Az, BIER & ZIER
&% N> ZZzn <L %IER

Mo ZZxEZn<<OZIER N
Pol S GEERTIE o2 ETLTCEHET S,

Moz n<<ELZIER N

PolZETLTLL AEEZILOTEIET S,

6 (8x+3y) +4(4x —8y)
=48x + 18y +16x — 32y

=64x — 14y
g J
2(3a—5b) +3(2a+4b) 5(2x—6y+7) +7(5x+3y+4)
=6a—10b+6a+12b =10x — 30y + 35+ 3bx + 21y + 28
=12a+2b =45x— 9y +63
\_ J
O 3@x+7y)+2(4x+6y) @ 6(2a—5b) +4(a—8b)
® 76x+3y—-2)+5(7x—5y+4) @ 9(8a—9p+6)+2(5a+2b—1)
® 6(6x+3y—2)+3(7x—5y+4) @ 4(8a—9p+6)+75Ba+2b—1)
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6 (8x+3y) +4(4x —8y)
=48x + 18y +16x — 32y

=64x — 14y
g J
2(3a—5b) +3(2a+4b) 5(2x—6y+7) +7(5x+3y+4)
=6a—10b+6a+12b =10x — 30y + 35+ 3bx + 21y + 28
=12a+2b =45x— 9y +63
\_ J
O 3@x+7y)+2(4x+6y) @ 6(2a—5b) +4(a—8b)
=Ox+21y+8x+ 12y =12a—30b+4a—32b
=17x+ 33y =16a—62b
® 76x+3y—-2)+5(7x—5y+4) @ 9(8a—9p+6)+2(5a+2b—1)
=42x+21y— 14+ 35x— 25y + 20 =72a—81b+54+10a+4b—2
=77Tx—4y+6 =82a—T77b+52
® 6(6x+3y—2)+3(7x—5y+4) @ 4(8a—9p+6)+75Ba+2b—1)
=36x+18y—12+21x—15y+12 =32a—36b+24+35a+14b—-7
=57x+ 3y =67a—22b+17
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